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1. What does this statement accomplish?

SELECT astronaut , COUNT(∗ ) As numbe r o f f l i g h t s
FROM crews
GROUPBY ast ronaut
ORDERBY numbe r o f f l i g h t s DESC;

2. What does this statement accomplish?

SELECT YEAR( launch ) AS YEAR, COUNT(∗ ) AS numbe r o f f l i g h t s
FROM mis s i ons
GROUPBYYEAR( launch ) ;

3. What do these statements accomplish?

CREATEVIEW nasa AS
SELECT m. space c ra f t , c . astronaut , m. launch ,

m. recovery , m. d e s t i n a t i on
FROM mis s i ons m INNER JOIN crews c
ON c . s p a c e c r a f t = m. spa c e c r a f t ;

SELECT ∗ FROM nasa ;

4. What does this statement accomplish?

SELECT astronaut , MIN( launch ) , MAX( recovery )
FROM nasa GROUPBY ast ronaut ;

5. Modify the previous SQL statement to produce a result whose columns
have labels that more clearly describe the contents.

6. What does this statement accomplish?

SELECT astronaut ,
SUM(TO DAYS( recovery ) − TO DAYS( launch ) + 1) AS days in spac e

FROM nasa
GROUPBY ast ronaut
ORDERBY days in spac e DESC;
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7. What does this statement accomplish?

SELECT space c ra f t , COUNT(∗ ) AS s i z e o f c r ew
FROM nasa
GROUPBY s p a c e c r a f t
ORDERBY s i z e o f c r ew , s p a c e c r a f t ;

8. What does this statement accomplish?

SELECT DISTINCT ast ronaut FROM crews ORDERBY ast ronaut ;

9. What does this statement accomplish?

SELECT a . space c ra f t , b . s p a c e c r a f t
FROM mis s i ons a JOIN miss i ons b
WHERE a . launch > b . launch AND a . launch < b . recovery ;

10. What does this statement accomplish?

SELECT astronaut , COUNT(∗ ) AS t r i p s t o the moon
FROM nasa WHERE de s t i n a t i on = ’ lunar o rb i t ’ OR

de s t i n a t i on = ’ lunar su r f a c e ’
GROUPBY ast ronaut
ORDERBY t r i p s t o the moon DESC, a s t ronaut ASC;
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